PenHH

ikl e E = 4H Al YyirE H =
FGE+pE | SRR 18 3% T EIERE) 60 {E
KR MRS T 48 & NSRS 2 59 1@
SRk /NGB H R 7 {E EEE S 2 14 {&
/NGLEEH RS AR 5 1H I 33 {
DDST £ 74H 3G 28 57
IS G E e 3 1 fEFLR 20 1
R} FERAEEK 1 1 Sl 109 {&
FLFE AR 2 # — B YIETE 1&
BRI FER 1 {# BT BV 134
KEEM 5 BR 36 {
KEEL 4 =R 12 &
FEME 63 RE 25 [l
R = FREEK 140 ETRSERT 30 &
ST 55 6% BEEESTUE AN 17 {&
HIERRCR) 140 20 1 BT MR 36 &
=1 E524UN) 1 4H 8 i AN RE T e A 1 1
Vb2 (BH) 2 H TFestEE Ry 4 ]
VhP% (EE) 4 & 8 EE A5 55 <0.00 2 &
] 5 1H iR RS ER 0.07-0.10 2 {#
FHsL 10 & Wi EE AEER 0.12-0.15 2 {#
B+ 43 {4 iR ASER 0.17-0.20 2 &
i U 225 Tl 1 5 T AR 0.25 2 {
bE G i 17 {&
TR VEE 15
ZE 15
PALER ST 2 &
B 44




